First math test

\ 9m(9h o Apslul -4
el

Tnordes to detesn the abeclute yafue  We chunge
) jobo —960> When 36D 2o ie.

\ /grafh ot %lzsl\(ztbi'
=
2

s

R IR S
Sl




o
/Zﬂ/OPE:O \ e
o area of £ ) ';j() %Ld%t%] =
0 RS,
2

v The )W\Q%z e (o, =)

> The Mrae imag. o3 (-, by 7 i
FC40) = (~e9, (] U], £=0)

2) = L Ry %:g/ e %:i%f # y7o

g0 27 (040> [049) | I (y) :/_;; for y> 0



alsen :
/{/('4 -’_/MO //MZ /ﬂﬂ o /Mrp .Aﬂ./{’% _/MQ ,,(/t(,

Fhen Obz//'pz/&@ >4 el %Qm
Do ] )/Uo/>/l e
i e S
PR ot e L P s

E :
Geeis /Lﬂ I
S
e

1) s
RN ! ﬁ&(ﬂoglerj%ﬂ%B

Ve (cozll Yook /Aﬁé S A O N 8
Thariderr 2" o> =207

SE A (2~ = N and 2" = \EW

R g e i A Gl PN mueb'ﬁol@o}%;”
ST ol Xﬂé/zw‘i\e‘\n; 2?@/ T

6/J We can woe the 2keteh Jo X, 20 cnd
Hhen  use mme i e pvec ot 8xae (mic
@ANO\&;O) ( ones > and e do nof C/Lﬁﬂjg
Dhe vilue o Iy (i), 14 )y



emad Sl e e
' &< Lx/\/\él AN ¢ Xé&&(wdjé/\

/
({C?_é <L
4\_//‘\ O‘é\/ =

a

£ 0

S C“‘MGXE#/IJ .

2 S’o«j For the nototion of Hhi¢ exendse.
b hie A Ware onfrge VA (bud which
shodn' ) T ?%jb]ﬁ[ﬁpl the. pames here
CINOA ?Gﬁfp Ao, Bn, Ay Ge in tne pilere
R e o Sy

IR

E = To,03 Vo, VDo) 0. VB U
s E Fed EO) ’\'®>

e e e e e e
iy B

2L
B RSN

oy —>
) (& noftonrneed

X0 QM”M>



D%: UA\(\ ﬁrv\:L/_O)V\j

L7 o b )Vlm;(o
N T B e R s e S e R
e

Corverzel e e e e B Y,
p > a (loop enoushd xé€lg n)=A,

— e gAm Z3
AN = Q En FE\A:EL/\I*\"@B

VeSS e R
r—e e g: OEV\ ”;:F

N>
Snee We Sound po Shatves e T e
e B el it st
avd it i th O&[P%ﬁ@éb‘ca\ —eclon
o 32/;0& Ao an stdor ok e jR 0ot ﬁﬂpu\
whe comndt empace (oD and (4,©)
P AnSTanc?. .

:P/bm”:! R oy iy ——>



EC%@QCQ R s e e e v e
Hence the relpdteon (s refloddie
A0 Tf (08:DR (Yu o) and [,y ) R Ca, 2. Fhan
el =Y onl 2, <ys A
Yo 2 Aa OV Y i =%y Q0 iy L7, (20>
We camat hade . LY AN G e e
obhenite. (2D (oouleln 't e pora’be .
Similarly | pe conpot have (fa<2, [n (2.
Thewtoe , We have S e A> éjzwﬁzégg
et %4—:@A ano 2=y theoChfer IR
ANLT Ly /0 eyvic .
BOO L% G A (Yu 4 Gnol [0,y K &, 2.
then (a0 s 9(%ZYn Aol 2Ly dard
K@A <20 OF an =2 4 gl s 4%25\ \()ng obce ]
A'\fribird (]r’@ S AGR dnhes  Sthey
524 LAl O R LWh=g g Of AuZYa <
e, 4%/|>
Ko =p=o, ag 2.4, Zg,
/(J.Z_ 'Zg/,tg/, ondl 2, 4823 ¥

anpf



